EMNRERBIFEE [BEITVAEIRE) EEBEIE—ER

2020/09/24
R IE B = #h = PR E BHESH fimst
BOl |& 1&g 231.6 nEE 60 228 IR D /5
B02 |& 1 %R/ & RIAR 70 A E HFRDB
BO3 [& 1 THEAK 1.9 XN EEE(RIAE) 60 AE ARDB
B4 |1 THRAK3IRNEER(KREMNE) 60 ~E HRDB
BOS |&1 THAK3I.4ARNBEE(KRENE) 60 AE FRDBE
BO6 |81 TR 3.5 RNEE(KENE) 60 ~E HRDB
B07 |& 1 T #R A E& 3K+670M EX (RIAR %) 60 N E SRR
BOS |81 T#AK 3.8 NEE(KEMNE) 60 228 ARDB
BO |B1 THRAKI1.TAERR 60 N E A RaB
BIO [& 1 T #F 2> B il EX 60 NE A RaB
Bll |& 3 #RAE& 237K+185M( MR ER) 60 ANE 3R B
B2 |B 3N 237.2 REEROBKEZE) 60 AE FRDBE
BI3 |8 3 M AEE 238 N B (FaEKABHT) 60 ~NE A RAB
Bl4 |& 3R 240.3 28 (MANIR) 60 AE R0 BE
Bl5 |B 3 AR 245 N B R (MAMAEER) 60 ~NE RN B
Bl6 |B 3R 255.20 AERER(HNEBIMNR) 60 N E A RaB
Bl17 |B 3K 257.7 REE(HMME) 60 A E FEn B
BIS |3 A 258 AR (L) 60 AE A ED R
B19 |& 3R 259 N B (HIMAE) 60 ~E FEn B
B20 |& 3R 260 REER(HIMHEE) 60 A E A ED R
B21 |B 3R 261.8K-262.4K 60~ 2 HmakE
B22 |& 3#RANE 264.85 2N B IRMIEY 60 NE “+ g =
B23 |& 3 #RAEE 266 A B IR X 60 NE AN B
B24 |8 3 R ANREAMA L 60 NE RSB
B25 |B 3 AR EHIEE 60 N E )8
B26 |5 3 #RANEE KA 60 AE 0B
B27 |& 3 RN B IR MIER 60 NE R
B28 |8 19 & 59.7T RETTRE 60 ~E RENE
B2O |& 19~k 60 AETRE 60 ANE RED B
B30 |B 192K 61.9 2B (TTRE) 60 ~E RED B
B3l |B 19K AETRE 60 ANE RED B
B32 |8 192K 62.2 A E(TREK) 60 228 RENE
B33 |B 19 R 64. 7T RE(CEER) 60 ANE RED B
B34 & 192 65.1 A E (ALEE) 60 N E A B
B35 |8 19 A ETRE 60 N E EED B
B36 |& 19 AL A 60 N E BB
B37 |8 61 fRIRRE R 245K(F T) 90 AE A B
B38 |& 61 #RRR & 246K (AL _£) 90 AE &S B
B39 |& 61 #R1R:F & B% PO 50 B 90 nEB =MmoR
B40 |& 61 #F1RE B & O B 90 AE &S B
B4l |B 78 MRIRERBEEE M 18.1 AE 100 228 RED B
B42 |& T8 RIREANE 18.4 ANE (M) 100 228 EED B
B43 |& T8 MRIREAEE 18.5 AEEHM 100 2288 RED B
B44 |B T8 RIRERE 19.9 RAEEE M 100 228 RED B
B45 |& T8 fFIREAREE 26.0 N EE 100 xE8 H@EnkE
B46 |B T8 fRIFR AN 27 N B M) 100 228 FEN B
B47 |& 78 RIRRANEE 34 . 5K-34.7K 100 2B AN B
B48 |5 T8 fRIFERANFE 38.3 AN E AR 100 228 HmakE
B49 |& 78 RIRRERE 41.5 N E M 100 AR )8
BS0 [141 ARSI ER 60 XE8 3RAB
B51 |145 R 19.3 ~nEREE 60 AE RED B
B52 145 2 19.5 AN E(REEK) 60 ~E RENE




B53 [145 A8& 19.8 RE(RER) 60 A B RES B
B54 |1458&E 24.6 AER(EERK) 60 A B RES B
B55 [145 A& 26. 3 REXEE 60 X B FES B
B56 145 A8%30.5 AETEEK 60 A B FES B
B57 145 A& 31 REK 60 X B EED R
B58 145 AB&31.5AETEER 60 A2 RES B
B59 145 RB&31.6 RER 60 X B EEDR
B60 [145 AB& 32 NE LB 60 A B RES B
B61 [145 A3 2 AREFTEE 60 A B REDR
B62 [145 RBE33.4 RE(FHBER) 60 X B FES B
B63 145 A EEE 60 A B FED R
B64 |145 A& X EER 60 X B EED R
B65 |145 CBREFRE iE FiER 300 ARER 60 A B FED R
B66 [145 CEREHEE 71 2880 200 ARBER(H1T) 60 X B EED R
B67 [145 CEBES | Rl 950 AR (R M) 60 A B RED R
B68 145 CEREE 1 #2880 A 850 AR ER 60 A B REDB
B69 [145 ZERE 1K+535M( R EER) 60 A B RED R
B70 |145 CBEEREEE 60 A B RED R
B71 149 B/ARE 3.8 NE R (RME) 60 A B AEnBm
B72 |13 ABREEE 60 A B EE Y]
B73 154 R RF& 37.4 REBR(AER) 60 A B IRGB
B74 |I54 i@ AR T AERBRER(ZE-55) 60 A2 G
B75 |154 CERERIAR%DIE EAT R E 53-12 98 A1 B Fx 60 A2 IRGB
B76 |154 ZBRE S A L% 3 58 (R FHR A AT 60 A2 AEnBm
B77 |154 T#& 15.9K- 16K & J1 %0 60 A B AEnm
B78 |15 AKBIAER(BHEK) 60 A B ERl5 B
B79 |16 AR I3 AER(BSH) 60 A E 78R =
B3O [156 #R A& 14.1 RE (Z&#) 60 AE I B
B31 158 F#z A R8T B Ex 60 X B EED R
B2 |164 #R /N E& 14K(KHKER) 60 A2 EtESB
B33 |AIRHF 157 #% 2.9K-3.1K 60 X B AEnBm
B4 |ARIRHF 157 %% 4. 4K 60 A E AEnm
B85 |AIR4F 157 %% 5.7K-5.8K 60 A B AEn/
B36 |AIRHE 157 #% 7. 4K 60 X B AEnm
BR7 |KIRHE 17348 2.5K 60 A B AEns
B38 |} 158 FHAR 22.8K-23K 60 X B BN e
B89 |FFEfE 158 B 23.5K 60 A B AEnm
BOO |FFgiE 158 AR 24. 1K 60 X B AEnBm
B9 |*FFaE 158 F#R 25.4K 60 A B AEnBm
B2 |+EiE 158 28 1.1K 60 AE R
B93 |FEEEE 158 TR 7. 1K 60 A B AEnBs
B94 |FEIEZE 185 #R 3K-3. 2K B EX SORE AEnm
BO5S [ ANTBE B (EMEIR KEE) 60 NE IR B
BY6 |SFATER KR —EREFHI—IREO SORE 3RAB
BO7 |HNmhERERR L 000 B O K S50 N E R B
BO8 [ ATERER —ERIRER 60 A B ARAB
B99 |SFATEAEILE — R 60 A2 IRGB
B100 |E EE X ik 60 A B RED B
B101 |EEEAMEEE 152 16 Feal 60 A E RED B
B102 |EEEATEIE 152 17 5-a0 60 A B RED B
B103 |Z &%= 10 #R 4K+350m( E2 5 - LU 1FFT) 40 B iR
B104 |[REH 153 %m F 3.2 E 60 A B E iy
B105 |EBM 153 : L L3 3 A E 60 X B E/DE
B106 |48 & 61 #&m F 237 AR 00 A E E iy
B107 |25 2 %0 < 65 B & 38 BR B 60 X B E Y]

D=




